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Mention the assumptions of an assignment problem. ()
A city corporation has decided to carry out road repairs on four main areas

of the city. The government has agreed to make a special grant of Rs. 50 iakh
towards the cost with the condition that the repairs are done at the lowest cost

and within the quickest schedule. If the conditions warrant it, then a supplementary
token grant will also be considered favourably, The corporation has floated tenders
and five contractors have sent their bids. In order to expedite work, one road will

be awarded only to one contractor.

(i) find the best way of assigning the repair work to the contractors and the cost

(ii} Is it necessary to seek the supplementary grant? If so, what should the
amount be?

(iii) Which of the five contractors will be unsuccessful in his bid? (8)

Explain the concept of queuing theory and its application. (4)

A super market has a single cashier. During peak hours, customers arrive

at a rate of 20 customers per hour. The averdge number of customers that can
be processed by the cashier is 24 per hour. Calculate —

D The probability that the cashier is idle

(i)  The average number of customer in the queuing system
(iii) The average time a customer spends in the system
(iv) The average time a customer spends in the gueue waiting for service, (6)
OR
Explain process of two jobs through ‘m’ machines. (4)
Solve the following sequencing probiem and the idle times of the machines :
Jobs
Machine A B C D E
M; 11 13 9 i6 17
M, 4 3 5 2
M, 6 7 5 8 4
M, 15 8 13 9 11 (6)
Specify the applications of simulation models. (2}
Discuss the advantages and disadvantages of the model, (3)

A production line turns out about 50 trucks per day. Fluctuations occur
for many reasons. The production can be described by a probability distribution
as follows :

Production/day 45 46 47 48 49 50 51 52 53 54 55
Probability 0.03 0.05 06.07 0.t 015 02 015 0.t 0.07 005 0.03 (5)
OR

For given activities draw the network diagram. Calculate critical path and
the total float.
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